
Paper 1 Mock- 2 hours
Social Influence
1. Explain what is meant by internalisation. (2 marks)



2. Explain how a minority can bring about social change. (Total 4 marks)









3. Apart from personality type, outline one psychological explanation for defiance of authority. (2)












4. By today’s standards, many studies of social influence would be judged unethical.’ 
[bookmark: _GoBack]Discuss ethical issues that have arisen in social influence research. Refer to evidence in your answer. (Total 16 marks)




























Memory
1. Complete the following statement about long-term memory. 
Information not available for conscious inspection refers to:
 A Episodic memory               B Procedural memory                  C Semantic memory                           (Total 1 mark)

2. Bryan has been driving for five years. Whilst driving, Bryan can hold conversations or listen to music with little difficulty. Bob has had four driving lessons. Driving requires so much of Bob’s concentration that, during lessons, he often misses what his driving instructor is telling him. 

With reference to features of the working memory model, explain the different experiences of Bryan and Bob.     (Total 4 marks)



















3. Research has suggested that the encoding and capacity of short-term memory are different from the encoding and capacity of long-term memory. Explain what is meant by coding. ................................................................................................................................. ................................................................................................................................. ................................................................................................................................. ................................................................................................................................. (Total 2 marks)
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4 marks 











5. Outline one study that has investigated the effect of anxiety on eyewitness testimony. (Total 4 marks)










6. Outline and evaluate one or more explanations of forgetting (8 marks)
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2. Name one measure of dispersion that the researcher could have used to describe the data. (1 mark)
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4. Describe and Evaluate research into the influence of attachment on childhood and adult relationships (16 marks)
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Psychopathology












(2)

b) With reference to the study described above, what do the results seem to show about possible influences on the development of OCD?     (4)
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Identify one definition of abnormality and explain one limitation associated with this definition. ................................................................................................................................. ................................................................................................................................. ................................................................................................................................. ................................................................................................................................. ................................................................................................................................. ................................................................................................................................. 
(Total 3 marks)








Outline biological explanations of OCD (6 marks)
















































Evaluate biological therapies as a treatment of OCD (10 marks) 
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Read the item and then answer the questions that follow.

Researchers analysed the behaviour of over 4000 pairs of twins. The results
showed that the degree to which obsessive-compulsive disorder (OCD) is
inherited is between 45% and 65%.

(a) Distinguish between obsessions and compulsions.

(b)  With reference to the study described above, what do the results seem to show about
possible influences on the development of OCD?
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3 | Complete the diagram below, by filing in A and B, to show Beck's negative rad as it s used to

explain depression.

Beck’s negative triad

Negative views about

for example: 'l am worthless’

Negative views about

for example: ‘I will never be
any good at anything"

Negative views about

the world

for example: ‘Nobody values me'

(Total 2 marks)

Briefly outline one strength of the cognitive explanation of depression.

(Total 2 marks)
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Aresearcher investigated the effect of age of starting day care on levels of aggression.
Four-year-old children attending a day nursery were used. Each child was assessed by the
researcher and given an aggression score. A high score indicated a high level of aggression.
Alow score indicated a low level of aggression. The maximum score was 50.

Mean aggression scores for four-year-old cl
day care before the age of two or after thy

Started day care Started day care
before the age of two after the age of two

Mean score 25

23

Identify the operationalised independent variable and the operationalised dependent
variable in this study.

Operationalised independent variable .....
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Draw an appropriate bar chart o display the data presented inthe table above.
Correctly label your bar chart

State an appropriate directional hypothesis for this study.
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